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1. e R wE Teahl MR Sfele 1x5=5
Choose the correct answer from the

following :
(a) T CFACHT uﬁ:‘i?i?ﬁ % = 2
Which of the following is most acidic?
() B |
Phenol
(i) oY =
o-nitrophenol
(i) 2,4-SEARE e
2,4-dinitrophenol
(iv) 2,4,6-Giz2 e
4 2,4,6-trinitrophenol
P16/88 ( Turn Over )



T Y T T T I
- ‘ IR . e e

(2)

(b) REG-2-FR IR TS T @R QD!
==
But-2-ene on ozonolysis produces
(i) TCLARERZS |
formaldehyde
(i) aRGSRRS
acetaldehyde
(i) A A
propanal
(iv) 8°RI oIS 7Y
None of the above

(c) ©FR (IO (9 SABIROLF FRIW 2

Which of the following compounds is
- most basic?

(i) CH, —NH, (i)  (CH,),NH
(i) CH;CH, —NH, (it) CgHg—NH,

(d) n-A"H{iZE F'ATT GFFT| KOH I ON©
Tai*rs e Seom @RI @9 LR

n-Propyl bromide when heated with
alcoholic KOH, gives

) LA
propyne
(i) AN
propanal
(i) oo
Propane
(iv) oFm
pPropene
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(e)

2. (a)

(b}

{c)

CH,

P16/88

(3)

EE TR 7'
The electrophile involved in the
sulphonation of benzene is

() H,S0, (i) HSO}
(i) SOy (iv) HSO;
UNIT—I
S RIFACE! Toopf 71 W% TS widvs ¢ 4
Aecr forsn - 1+1=2

Complete the following reaction and
write the rule involved in the reaction :

cl
CH3—CH—CH,—CH; + KOH ale. —2>
AR =1 (R e w51) - 2x2=4

Convert the following (any two) :
(i) A ZR o[ RTG-2-wzg
Propyne to but-2-yne
(ii) 2-F'FA’CMT °[/1 1-3'7°2’o]
2-bromopropane to
1 -bromopropane

(i) A T
Ethene to ethyne

T R X W1 ¥ e 3wy - 2

Identify X and Y in the following
reaction :

=CH, +HzOJng(OAc)2 _>X_N%EI'_I4—>'Y

( Turn Over)
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(d) = RRFER o T (R e fofon) : 1x3=3

Complete the following reactions (any
three) :

(i CHs—CH=CH, + H,0 + [O]
alk. KMnOs _

1I3r 1|3r
(i) CHy—CH—CH, + KOH alc. —2->?

(i) CH;—C=C—CHj U9 .,

2) Zn/H,0

(i) CH,—CH=CH, + HBr —Feroxide .,

"UNIT—I1
3. (@) oK RfdFacam o < (R @ g) : 1x2=2

Complete the following reactions (any
two) : '
COONa

() @ + NaOH —25>2

_OH
(ii) ©/ +Zn —B 57

: 0
(iit) @ " CH3—(“3—C1 _an. AlCl

P16/88 ~ (Continued )
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4. (a)

(b)

P16/88

(5)

Breea-arber i Rt oy TR
BIRIPTR R R e < | 1+2=3

State Friedel-Crafts alkylation reaction
with the help of a suitable example and
explain its mechanism. “

UNIT—III

Sn2 Rfersrm «br Sreed fin s S R
SICETS 47 | 1+2=3

Give one example of Sn2 reaction and
explain the mechanism.

W TRERR  IFERFeRT G
CTERCF 9 M | 1 9 | 2

Aryl halides are chemically less reactive
than alkyl halides. Explain.,

Y53’/ Or

g &t X SR Y fore 5

Identify X and Y in the following
reaction :

NaN02
CeHs—NH, ———25 5 CuBr
° HCl, 5 °C HBr Y

( Turn Over )



{1 9

(c) =TS e =R 31 (R @i ghr) :  3x2=6
Convert the following (any tiuo) :
(i) REB-1-%7 *”1 REB-2-3
But-1-ene to but-2-ene
(i) R PSR [ A AT
Methyl bromide to propanone
(i) FIERER R @FE R ofRs

Chlorobenzene to benzoic acid

UNIT—IV

5. (o) R FWerreERs @R SmEe  Ree
T Ao TN ? 2
How can phenol be prepared with the
help of cumene hydroperoxide method?

(b) T RAwR FES AR, GROR AR
MR TR @EE I oEm o,
M4 I | 3
Explain how primary, secondary and
tertiary alcohols can be distinguished
with the help of Lucas test.

P 1 6/88 | ( Continued)
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P16/88

(7)

wﬁ%ﬁmﬂ#w R @) :  1x2=2

Complete the following reactiop_§ (any

dwo) :
) CH,—OH
2 KHSO,
CH—OH
CH,—OH
OH
(i) CH3—+—CH3 Cu/ST3K ,
CHj
OH

o |
I
fiii) @ + CgHs—C—C1 —NaOH __,

o RFIPTRT e Tead B w1 (R

Il 51) 2x2=4

Explain the following reactions with the
help of suitable examples (any two) :

() Pea-FEee’ FRapRRd |
Pinacol-pinacolone rearrangement
(i) -z R
Houben-Hoesch reaction
(i) CIRAR-GiRC Rfem

Reimer-Tiemann reaction

( Turn Over )
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UNIT—V
6. (o) OREE FERS KRR TS o fEEaTE
oS 9 | 2

Prepare propylamine with the help of
Gabriel phthalimide synthesis.

(b) ¥ @I v’ farets QR Ry g2 1

Why is ethylamine more basic than
ammonia?

() o RRPIIR oyl 1 (R o) = 1x2=2

" Complete the following reactions (any

two) :
L+ =
=NCl
(i) + H,0—22m , ,
NH,
(i) + CHCl3 + KOH alc. ~——>?
4+ -
N=NCl oy
' 0°C-10°C

P16/88 , ( Continued )
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( Old Course )
Full Marks : 48
Pass Marks : 19

Time : 3 hours .

The figures in the margin indicate full marks
» for the questions

1. Wﬁmmmnﬁwmaﬁ%%@: 1x5=5
Choose the correct answer from the
following :

(a) SN2ﬁF‘ﬂTaﬁNﬁFmW~ﬂaﬁa@W
GBR CFIS T (I HTS ?

Alkyl halide undergoing Sy2 reaction

involves

() TR R
formation of carbocation

(i) ReRrodd FFamCIes

. inversion of configuration

(ii) G Rt / racemic mixture

(iv) FAONCIOA IR AP
retention of configuration

(b) C{z——gﬁz 3 @is/e RMgX 3 Rfdm sfbea oo

@)
IO Teorm =7 ?
h ti CH,—CH; wi
The reaction of \\20 = 2 with RMgX
leads to the formation of
() RCHOHR - (i) RCHOHCHj;

‘(i) R,CHCH,OH  (iv) RCH,CH,OH
P16/88 ('I‘um ouer)
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(c) °MG H,S0, OIS s/% ¥R qaas@ aﬁﬁm
IR ARISE 371 27

Durmg dehydration of alcohol to alkan.es
by heating with conc. H,S0,, the initial
step is

() BRI Teoma

formation of ester
(i) TR —OH Y 2’5 e
protonation of alcohol molecule
(i) IR R
formation of carbocation

(iv) N S HPIR

-elemination of water

(d) wmﬁmm’s’ﬁﬁéﬂwﬁmﬁﬁm?

Iodoform test is not given by

(i) 2-CromA
2-pentanone
(i) 3-¢rora )
3-pentanone
(i) %
ethanol
(iv) 3T
ethanal

P16/88 A ( Continued |
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2. (a)

()

()

P16/88

ATy YT

OER (FICH QTR BRI 2
The strongest base among the following
is ’
o () @]
. N | T
H
NH,
(iti) @ (iv) O/
I
H
UNIT—I
word RIFACHT 7o) TR oR R o )
' Yot+1Yo=2
Complete the following reaction and
write the mechanism :
CH,OH+HI—>?
@RI @ Tl W e | _
PR O | 2
Why are haloarenes less reactive than
haloalkanes? Give reason.
oo frafiene wemet 91 (7 Qe 461) :  14x2=3

Convert the following (any two) :
(i)  ATEF A’H-1-97 (A
' Propane to propan-1-ol

( Turm Over )




(d)

p16/88

(12)

(i) 2-ITVAAT [/ 1-3° T’

2-bromopropane to
1-bromopropane

(i) @R OEETEN AR om
RS A
Benzene diazonium chloride to
iodobenzene

TR RIGACIR 7o 1 (R coreen 5ifB1) ©  1x4=4

Complete the following reactions (any

foun :

Na
; — 39
(i) (CHjz),CHCI dry e ther :

(i) (CHs),CH—CH=CH, 255,

1) Mg/dry eth
(i) <:>—-Br ) Mg/dry ether
2 H0

. P/I
(iv) CH;CH,0OH —1—2—> ?

T
(v) CH3—?—CHQCH3 CaHsONa/CoHsOH ?

Cl

( Continued )



(13)

UNIT—II
3. (a) M6 ETR TARfoS TR o] T A
e i fn 2

Write the mechanism of acid catalyzed
~ dehydration of ethanol to ethene.

(p) Tov Rewe 2 ooz e Reme IS
TR IER Y& | 3
What is Lucas reagent? How are alcohols
distinguished with the help of Lucas
reagent?

() & G o (R e ) 1%4%2=3

Write short notes on (any two) :

() IR-Sizew R
Reimer-Tiemann reaction
(i) SRR AR
" Williamson synthesis
(i) oS R
Todoform test
() o R s ¥ (R coran fFG1) : 1x3=3

Complete the following reactions (any
three) : :

OH

0 dil. HNO; _ .,

P16/88 ( Turn Over )
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(i) CHz—C=0 —~2BHs

CH,
OCH,

(iti) —H .,
. 373 K
(iv) CH,OH

CH,0H

UNIT—III

4. (o) ol ReT wfiTeN e afvwire
eroRR i o | o

Write the effect of substituents on the
acid strength of aliphatic acid.

(b) =TS fRICARR HeaRa o (R coren ab) - 2
Write the synthesis of the following (any
one) : -

() RS
Benzaldehyde

(i) @S’ RFa'q '
Acetophenone

(i) =R ofke
Salicylic acid

Continued
P16/88 (Co )
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(c) wﬁmzamsacﬁmﬁm(ﬁmqﬁt) : 2x2=4
Write short notes on the following (any
two} :

() 9= TRrswq
" Aldol condensation
() fER' Ridm
Cannizzaro reaction
(iii) SeTE-RegEr R

Wolff-Kishner reduction

(d) =T RIFAER 5topef 31 (R I fofbr) : 1x3=3

Complete. the following reactions (any
three) :

, I ~ Pd-BaSO,, S
) CH3—C—Cl +H, — —>?

(i) CHy;COOH L Clp, Red P,
2) H,0

I

t
(iv) CH3CO0C,H, ) Nao: /EtOH
2) HyO

P16/88 ( Turn Over )
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UNIT—IV

5. (a) cﬁammww@amm—waﬁwﬁw
TRIFOR F9 oy

Predict the order of basicity of the
following amines in gaseous phase and
aqueous phase :

(CH3)3N, (CH3),NH, CH;NH,, NH,

(b) CiTEER AREIRS SKeRR wRace iR 9w
S F9 |

How would you prepare ethy’amme by
Gabriel phthalimide synthesis?

(c) TR HoPIRe TSCo! o

Write Hofmann rule of elimination.

(d) A=F B foare 331 (R e 3) 2x!
Identify A and B (any two) :

s A Redu.tien s B

NaCN,
(i) CH3CH,CI Ni/ i,

NaNO,/HCI_, .
CgllgNH,/OH™ ;

conc. HNO3 Fe/HCIl
(iii) - > A / >B
conc. HpSO4

* kK

(i) CeHsNH,

p16—4500/88 3SEMTDCCHM G 1 (N



